Middlebury College




Name: _______________________
INTD0111A (Spring 2009): The Unity and Diversity of Human Language

Take-home Midterm Exam (due on Friday March 20th by 11:30am in my mailbox in Farrell House, or by e-mail. Delay policy applies. No extensions will be given. So, start working on the exam early!)

This is an open book exam. So, feel free to refer to the textbooks, the lecture slides, and your notes, while answering the question. There’s no time limit, either. Unlike with other homework assignments, however, you are NOT allowed to discuss questions on this exam with your classmates or anyone else. You have to work individually on the exam. So, please make sure you write and sign the Honor Code pledge “I have neither given nor received unauthorized aid on this assignment,” in the box below:

	


Instructions: This take-home midterm exam consists of 11 exercises, many of which have subquestions (typically named A, B, C, etc.). Read each exercise carefully and make sure you answer ALL the questions. 

The whole exam is worth 200 points (and 20% of your overall grade in this course, so please turn in “neat” work). The number of points each question is worth is given next to the question/subquestion. 

Also please notice that, unlike with assignments 1 and 2, you have to answer the questions in the provided empty table cells on this exam sheet. Answers given in any other form will NOT be accepted. Should you need extra space for your answers, I suggest you use single-sided printing (rather than the default double-sided printing of the College computers), and use the blank reverse side for any additional space needed. Of course, if you intend to type your answers directly in the .doc file of the exam, then you should not encounter any space problem. 

Good luck!

Exercise #1:
Thriving in the Islands!

The following data from an Austronesian language illustrate one of the morphological processes discussed in Payne’s Chapter 2. First consider the data, then answer the three questions that follow:

	(1) a. 
	mate
	‘he dies’
	mamate
	‘they die’

	b. 
	nofo
	‘he stays’
	nonofo
	‘they stay’

	c. 
	tamu
	‘he buries’
	tatamu
	‘they bury’

	d. 
	alofa
	‘he loves’
	alolofa
	‘they love’

	e. 
	ta(oto
	‘he lies’
	ta(o(oto
	‘they lie’

	f. 
	atama(i
	‘he is intelligent’
	atamama(i
	‘they are intelligent’


Now, answer questions A, B, and C below:
A. What is the name of the word-formation process used to express the inflectional contrast between singular and plural in this Austronesian language?  (5 points)
B. Describe the rule that forms the words in the second column from those in the first. 








(10 points)
C. Using the rule you formulated in part B of this question, if the form for “he is strong” is malosi, how would you say “they are strong” in this language?
(5 points)

Exercise #2: In danger!
The following are some verb forms in an endangered language of the Muskogean family. Study the data, then answer the questions that follow.

	Verb form
	Meaning in English 
	Verb form
	Meaning in English 

	sachaaha
	“I am tall.”
	chitikahbitok
	“You were tired.”

	chaaha
	“He/She is tall.”
	satikahbi
	“I am tired.”

	chichaaha
	“You are tall.”
	hopobatok
	“He was hungry.”

	hoochaaha
	“They are tall.”
	hoohopobatok
	“They were hungry.”

	chichchokwa
	“You are cold.”
	sahopoba
	“I am hungry.”


Based on the data in ‎(2), now answer the questions from A to J: 

	
	Question
	Answer

	A. 
	What is the root morpheme meaning “to be tall” in this language? 












(2 points)
	

	B. 
	What is the root morpheme meaning “to be hungry” in this language? 












(2 points)
	

	C. 
	What is the root morpheme meaning “to be tired” in this language? 












(2 points)
	

	D. 
	What is the morpheme meaning “I”? 















(2 points)
	

	E. 
	What is the morpheme meaning “past tense”? 














(2 points)
	

	F. 
	What is the morpheme meaning “you”? 














(2 points)
	

	G. 
	What is the morpheme meaning “he/she”? 














(2 points)
	

	H. 
	If the root for “to be old” in this language is sipokni, then how would you say “You are old”? 







(2 points)
	

	I. 
	If the root for “to be old” in this language is sipokni, then how would you say “He was old”? 







(2 points)
	

	J. 
	If the root for “to be old” in this language is sipokni, then how would you say “They were old”? 







(2 points)
	


*********************

Exercise #3:
Next to each other does not necessarily mean “hanging together”!

Apply the indicated constituency test to the bracketed string in each of the following sentences. Rewrite the sentence after you apply the test. Is the string a constituent? Why? Why not? Note: Remember that constituency tests are only reliable if, after applying the test, you can keep the meaning roughly the same as the original sentence. 
(15 points)

(a) Martha gave [a lovely pillow to Andrew].


(Substitution test)

	


(b) John will [win the car race tomorrow] no doubt.

(Movement test)

	


(c) Maggie should [report the incident immediately].
(Substitution test)

	


(d) Tim drew [an enormous map during the afternoon]. 
(Movement test)

	


(e) [The study of language] is such a fascinating subject. 
(Substitution test)

	


Exercise #4: Sadly enough, W is not endangered any more; it’s gone!

Consider the following sentence from a language that we will call Language W:

	(2) 
	eephi
	mansana
	pa(ukh
	hak’she(
	he(
	
	

	
	she
	apple
	eat
	like
	question-marker
	
	

	
	“Does she like to eat apples?”


Now, answer the following question: State two “surface” grammatical differences between language W and English. 





(10 points)
	


*********************

Exercise #5: Meet Y, from Africa!
Consider the following sentence from a language that we will call Language Y: 

	(3) 
	mo
	mú 
	ìwé
	wá
	ilé
	
	

	
	I
	take
	book
	come
	home
	
	

	
	“I brought a book home.”


Now, answer questions A, B, C, and D, below:

A. Based on this one example from language Y, is this likely to be an isolating or a synthetic language? If synthetic, is it agglutinative or fusional? 
(5 points)

	


B. What is the head directionality of language Y?


(5 points)

	


C. What is the setting of the subject side parameter in language Y? 
(5 points)

	


D. Based on this sentence and on what we discussed in class, do you think this language has attraction of V to Aux? Provide evidence to support your answer. 

(10 points)

	


*********************

Exercise #6: Stopping by Central America for some linguistic diversity!

Consider the following sentence from a language that we will call Language J:

	(4) 
	xa
	ix
	te’
	hum
	wet
	an
	

	
	gave
	she
	the
	book
	to
	me
	

	
	“She gave the book to me.”


Now, answer questions A, B, C, D, and E, below:

A. What is the head directionality of language J? 


(5 points)

	


B. What is the setting of the subject side parameter in language J? 
(5 points)

	


C. If sentences in the language typically follow the word order in this sentence, then what do you think is the basic word order in this language? Circle one.   (5 points)

	SVO
SOV 
VSO 
VOS 
OVS 
OSV



D. Based on just the sentence in ‎(5), and on your answer to Question C, what is likely to be the setting of the subject placement parameter in this language?    









 (5 points)

	


E. Draw a tree for the sentence in ‎(5), showing with arrows (if needed) how the “surface” word order is derived.




(10 points)

	


*********************

Exercise #7: And now to the Pacific!

Consider the following data from a language that we will call Language S:

	(5) a. 
	Na
	fa’atau
	e
	le
	tama
	le
	pua’a

	
	Past
	sell
	case-marker
	the
	boy
	the
	pig

	
	“The boy sold the pig.”


	b. 
	Na
	fa’atau-pua’a
	le
	tama
	
	
	

	
	Past
	sell-pig
	the
	boy
	
	
	

	
	“The boy sold pigs.”


Now, answer questions A, B, C, and D, below:

A. Based on the two sentences in (6), what is likely to be the basic word order in this language? Circle one.






(5 points)

	SVO
SOV 
VSO 
VOS 
OVS 
OSV



B. What kind of grammatical operation that we talked about in class derives (6b) from (6a)? 







(5 points)

	


C. You should be able to see that this language poses a problem to the parametric analysis of languages with this type of basic word order as we presented it in class. State briefly what this problem is. 




(5 points)

	


D. Suggest a potential solution to the problem you mentioned in part C of this question. 







(5 points)

	


*********************

Exercise #8: Meet Z, from Australia!

Consider the following sentence from a language that we will call Z:

	(6) 
	Ngarrka-ngku  
	ka
	wawirri
	panti-rni
	
	
	

	
	man-erg
	Aux
	kangaroo
	spear-Non-past
	
	
	

	
	“The man is spearing the kangaroo.”


(Note: “erg” = ergative)

Now, it turns out that in addition to ‎(7), Z can also express the meaning of that sentence in any one of the following ways:
(7)    a. Wawirri ka pantirni ngarrkangku 

(7) (a) Pantirni ka ngarrkangku wawirri 

(7) (a) Ngarrkangku ka pantirni wawirri 

(7) (a) Pantirni ka wawirri ngarrkangku 

(7) (a) Wawirri ka ngarrkangku pantirni 

Without providing you with glosses for the sentences in (8), you should be able to tell which word in Z means what in English by studying the example in ‎(7). For the purposes of this exercise, assume that all these six sentences mean roughly the same thing. Meaning should have no bearing on your answer this exercise. 

Now, on the basis of the sentences in ‎(7) and (8), answer the following questions A, B, C, D, and E:

A. How do you characterize word order in Z? 



(5 points)

	


B. What parameter(s) is/are more likely to be relevant for Z?

(5 points)

	


C. Based on just this set of sentences in ‎(7) and (8), is Z a head-marking language or a dependent-marking language? Support your answer with evidence from the data. 








(5 points)

	


D. In class, we discussed a syntactic analysis for Mohawk and its freedom of word order. Can you extend this analysis to Z? If yes, draw a tree for the sentence in (8e) to illustrate how the analysis works. If not, then explain why not, and suggest an alternative analysis. 






(10 points)

	


*********************

Exercise #9: Any Questions!

In our discussion of verb placement in English, French, Welsh, and German, the picture that emerged was as follows:

(8)  a. English moves Aux down to V.

(8) (a) Welsh and French move V up to Aux.

(8) (a) German moves V up to Aux and then to C (though only in main, but not 
embedded, clauses)

As you should have probably noticed, this cannot be the whole story for English. In particular, in addition to the declarative sentences in (10) below, there are interrogative sentences in English where a verbal element actually precedes the subject, as in the yes-no questions in (11):

(9)  a. You can speak Sinhalese.

(9) (a) You have read the book. 

(10)  a. Can you speak Sinhalese?

(10) (a) Have you read this book?

Now, answer question A:

A. What simple modification to the analysis of English is needed so we can derive the surface word order in yes-no questions such as those in (11)? (Hint: Draw a tree for the sentence in (10b) first, then show with arrows (if needed) any changes that need to take place in the structure to derive the surface word order in (11b). (Important note: Remember that heads can only move to head positions, while phrases can only move to specifiers.) 



(10 points)

	


*********************

Exercise #10: Relentless parents or relentless children?
As you should have noticed by now, the “cognitivist” approach to language acquisition that we discussed in this class stands in contrast to the so-called “behaviorist” approach of the early half of the 20th century, which assumed that human beings are born “blank slates” and that language is learned in a response-to-stimulus fashion, coupled with reinforcement. Consider the following child-parent exchanges, and then answer the question that follows:

Exchange #1:

Adult: Where is that big piece of paper I gave you yesterday?

Child: Remember? I writed on it.

Adult: Oh, that’s right; don’t you have any paper down there, buddy?

Exchange #2:
Child: Nobody don’t like me.

Parent: No, say ‘nobody likes me.’

Child: Nobody don’t like me.

[repeats eight times]

Parent; No, now listen carefully; say ‘nobody likes me.’

Child: Oh! Nobody don’t likes me.

Exchange #3:
Child: Want other one spoon, daddy.

Parent: You mean, you want the other spoon.

Child: Yes, I want other one spoon, please Daddy.

Parent: Can you say ‘the other spoon’?

Child: Other…one…spoon

Parent: Say ‘other’

Child: Other

Parent: ‘Spoon’

Child: Spoon

Parent: ‘Other spoon’

Child: Other…spoon. Now give me other one spoon?

Now, answer the following question: 

How do these child-parent exchanges bear on the cognitivist-behaviorist debate? Explain your answer in a single paragraph. 





(10 points)

	


Exercise #11: In Honor of Mr. D. Advocate!

In this class we presented several arguments in support of a theory of Universal Grammar, and we also explained how the principles and parameters framework accounts for unity and diversity of human language. Can you think of an argument against UG? In other words, what would be a way to falsify the principles and parameters theory? Remember that cross-linguistic variation is not an argument against UG, since, as we have seen, UG contains parameters that accounts for such variation. 


(15 points)
GOOD LUCK!
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